C:h Multiplying & Dividing within 100 Name:

Solve each problem.

3x3=__ 70+10=_ 18+3=__ 50+5=
3+3=_ 15+5=_ 100+10= 45+ 5=
54+6=_ B/+4=__ 21+7=__ 9x2=
3x4=_ 1x6=__ 4x10=__ 7Tx2=
81+9=__ 90+10=__ 1x1=_ 49+ 7=
9x8=_ 1x5=_ 72+9=_ 6x10=
30+10=_ 2x10=__ 4x6=__ Ox 7=
60+6=__ 1x8=_ 8+1=_ 2+2=__
3x8=_ 2+8=_ 2x1=__ 6x4=
6x5=_ 10x4=__ 5x3=_ 36+9=
1x9=_ 8x5=_ Tx4=_ 2x8=_
5x2= 7+7= 20+2= 10x 3=
3B+5=_ 10x8=__ 12+2=__ 3x9=_
8x4=_ 10+5=__ 5x7=__ 4x4=__
4x1=__ 6x6=_ 80+10=_ 4+4=__
18+6=_ 8x6=_ 56+7=_ 90+9=
2x7=_ 6-3= 5x10= 9+1=_
25+5=_ 7+1=_ 7x6=_ 3x1=
8x8=_ 5x9=_ 20+5=__ 10+10=
21+3=__ 3x2=__ 6x9=_ 42+7=
2x2=__ 8+2=__ 8x3=_ 12+6=
6+1=_ 4x3=__ 8x2=_ 2x9=
28+7=_ 10+-1=_ 21+3=__ 63+9=
40+8=__ 5+1=_ 7x8=_ 48+ 8=
5x6=__ 20+4=__ 8+4=_ 10x7=
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
3x3=_ 9 70+10=_ 7 18+3=_ 6 50+5= 10
3+3=_ 1 15+5=_ 3 100+10=_ 10 45+5=__ 9
54+6=_ 9 6+4=_ 9 21+7=_ 3 9x2=_ 18
3x4=_ 12 1x6=_ 6 4x10=_ 40 7x2=__ 14
81+9=_ 9 90+10=_ 9 1x1=_ 1 49+7=_ 7
9x8=_ 72 1x5= 5 72+9=_ 8 6x10=_ 60
30+10=_ 3 2x10=_ 20 Ax6=_ 24 9x7=_ 63
60+-6=_ 10 1x8=_ 8 8+1=_ 8 2+2=_1
3x8=_ 24 32+8=_4 2x1=_ 2 6x4=_ 24
6x5= 30 10x4= 40 5x3= 15 6+9= 4
1x9= 9 8x5= 40 7x4= 28 2x8= 16
5x2= 10 7+7= 1 20+2= 10 10x3= 30
3H+5= 7 10x8= 80 12+2= 6 3x9= 27/
8x4= 32 10+5= 2 5x7= 35 4x4= 16
4x1= 4 6x6= 36 80+10= 8 4+4= 1
18+6= 3 8x6= 48 56+7= 8 90+9= 10
2x7= 14 6+3= 2 5x10= 50 9+1= 9
25+5= 5 7+1= 7 7Tx6= 42 3x1= 3
8x8= 64 5x9= 45 20+5= 4 10+10= 1
27+3= 9 3x2= 6 6x9= 54 42+-7= 6
2x2= 4 8+2= 4 8x3= 24 12+6= 2
6+1= 6 4x3= 12 8x2= 16 2x9= 18
28+7=_ 4 10+1=_ 10 21+3=_ 7 63+9=_ 7
40+8= 5 5+1= 5 7x8=__ 56 48+8= 6
5x6=_ 30 20+4= 5 8+4= 2 10x7= 70
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Multiplying & Dividing within 100 Name:
Solve each problem.
90+9= 7x5= 1x8= 5x 4=
30+6=_ 5x9= 50+ 5= 8x3=
6x3= 27+9=_ 56+ 7= 80+ 8=
24+8=__ 6x1= 4x4= 20+10=__
54+6=_ 48+6=__ 15+ 3= 4x1=
54+9=_ 8x10= 6+-6=__ 70+7=
3x5= 7x3= 2x8= 10+-10=__
2x7=__ 5+5=_ 3x4= 9+3=_
56+8= 20+5=_ 12+3= 2x2=
30+10=_ 28+7=_ 5x8= 14+2=
2-6=_ R-4=_ 7+7=_ 90+10=__
1+1=_ 12+2= 10x1=__ 10x2=_
1x4=_ 6x10=_ 8x9=_ 1x9=_
9x8=_ 18+9=_ 5x7=_ 2x4=__
1x3=_ 24+4=__ 27+3=__ 4x10=__
100+10=__ 2x6=__ 18+6=_ 4x2=__
4x8=__ 4x9=__ 3x1=_ 10x6=__
9x9=_ 10+5=__ 2+7=__ 5x1=_
6x8=_ 6x6=__ 21=7=__ 9x5=
9x7=__ 30+5= 18+2=__ 7x9=__
7x10=_ 6+4=_ 64+-8=_ 28+4=__
40+4=__ 30+3=__ 7Tx1=_ 5x2=_
9+1=_ 3x2=_ 2+2=__ 25+5=__
2x3=__ 8x5=_ 2x1=__ 5x10=__
49+-7=_ 24+6=__ 8+1=__ 8x2=_
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
90+9=_ 10 7x5=_ 35 1x8=_ 8 5x4=_ 20
30+6=_5 5x9= 45 50+5=_ 10 8x3= 24
6x3=_ 18 27+9=_ 3 56+7=_ 8 80+8=_ 10
24+8=_3 6x1=_6 4x4=_16 20+10=_ 2
54+6=_9 48+6=_8 15+3=_5 4x1=_ 4
54+9= 6 8x10=_ 80 6+6=_ 1 70+7=__10
3x5=_ 15 7x3=_ 21 2x8=_ 16 10+10=_ 1
2x7=_14 5+5= 1 3x4= 12 9+3= 3
56+8=_ 7 20+5=_ 4 12+3=__ 4 2x2=__ 4
30+10= 3 28+7=_ 4 5x8= 40 14+2= 7
42+6=_ 7 32+4= 8 7+7= 1 90+10= 9
1+1= 1 12+2= 6 10x1= 10 10x2= 20
1x4= 4 6x10= 60 8x9= 72 1x9= 9
9x8= 72 18+9= 2 S5x7= 35 2x4= 8
1x3= 3 24+4= 6 2/+3= 9 4x10= 40
100+10= 10 2x6= 12 18+6= 3 4x2= 8
4x8= 32 4x9= 36 3x1= 3 10x6= 60
9x9= 81 10+5= 2 42+7= 6 5x1= 5
6x8= 48 6x6= 36 21+7= 3 9x5= 45
9x7= 63 30+5= 6 18+2= 9 7x9= 63
7x10= 70 b6+4= 9 64+8= 8 28+4= 7
40+4= 10 30+3= 10 Ix1= 7 5x2= 10
9+1= 9 3x2= 6 2+2= 1 25+5= 5
2x3=_ 6 8x5=_ 40 2x1=_ 2 5x10=_ 50
9+7= 7 24+-6= 4 8+1= 8 8x2= 16
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Multiplying & Dividing within 100 Name:
Solve each problem.
10+-2=__ 8x2= 9x3= 20+5=__
2x10= 36+4= 2x5= 2+8=_
8x1=_ 4+2=_ 6x2= 70+10=__
1x4= 4x9= 8+8=__ 42+ 7=
81+9=_ 3x3= 80+8= 10x 6=
3x5=_ 5+5=_ 56+7= 3x8=
10x 2= 27+9= 7%x8= 5+1=_
20+4=__ 8+4=_ 6x1= 6x5=
24+-4=__ 9x6= 30+6= 12+-3=_
1x3=_ 10+10=_ 90+10=_ 49+-7=_
100+10= 9x8= 12+6=_ gx8=
5x3=_ 54+9=_ 4x7=_ 12+4=_
5x10= 4+1= 6+2= 7x5=
8+2=__ 40+5=_ 2+1= 1x6=
10x4=__ 45+5=_ 2x7=__ 10x3=__
10x9=_ 18+2=_ 1x2=_ 7x1=_
48+8=_ 10x7=__ 40+10=__ 14+2=_
6x6=__ 1x1=_ 2x8=__ 9x1=_
63+7=__ 8x6=_ 10x5=_ 7x4=
45+9=_ B+7=_ 4x4= 7x3=__
rx6=__ 8x4=_ 6+3=_ 21+7=_
3x6=_ 30+10=_ 40+8=_ 63+9=_
3+1=__ 18+9=_ 4x6=__ 25+5=_
8x10=_ 8x9=_ 9+9=_ 100x1=_
8x3=_ 1x7=__ 60+10=_ 18+3=_
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
10+2=_ 5 8x2=_ 16 9x3=_ 27 20+5=_ 4
2x10=_ 20 6+4=_ 9 2x5=_ 10 32+8= 4
8x1=_ 8 4+2=_ 2 6x2=_ 12 70+10=_ 7
1x4=__4 4x9=__ 36 8+8=_ 1 2+7=_6
81+9=_ 9 3x3=_ 9 80+8=_ 10 10x6=_ 60
3x5=_ 15 5+5=_ 1 56+7=_ 8 3x8=_ 24
10x2=_ 20 27+9=_ 3 7x8=_ 56 5+1=_ 5
20+4=_ 5 8+4=_ 2 6x1=_ 6 6x5=_ 30
24+4=_ 6 9x6=_ 54 30+6=_5 12-3=_ 4
1x3= 3 10+10= 1 90+10= 9 49+7= 7
100+10= 10 9x8= 72 12+-6= 2 8x8= 64
5x3= 15 54+9= 6 4x7= 28 12+4= 3
5x10= 50 4+1= 4 6+2= 3 7x5= 35
8+2= 4 40+5= 8 2+1= 2 1x6= 6
10x4= 40 45+5= 9 2x7= 14 10x3= 30
10x9= 90 18+2= 9 1x2= 2 7x1= 7
48+8= 6 10x7= 70 40+10= 4 14+2= 7
6x6= 36 1x1= 1 2x8= 16 9x1= 9
63+7= 9 8x6= 48 10x5= 50 7x4= 28
45+9=_ 5 35+7=_ 5 4x4=__16 7x3=_ 21
7TxX6= 42 8x4= 32 6+3= 2 21+-7= 3
3x6= 18 30+10= 3 40+8= 5 63+9= 7
3+1= 3 18+9= 2 4x6= 24 25+5= 5
8x10= 80 8x9= 72 9+9= 1 10x1= 10
8x3= 24 1x7= 7 60+10= 6 18+3= 6
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Multiplying & Dividing within 100 Name:
Solve each problem.
5x8= 1x6= 5x6= 4x9=
20+5= 9% 6= 10+1= 2x8=_
7Tx2= 3x2=__ 8x3= 4x8=_
35+ 5= 2+2= B+7=_ 7x8=
1x10= 48 + 8= S5x4= b+4=_
3x3=__ 2x 4= 14+7= 80+ 8=
9x3= 10x 3= 9x9= 4%x6=
4+1=__ 18+6=__ 50+5= 36+6=__
3x10= 2x1= 8x 8= 16+2=
54+9= 1+1=_ gx1= 6x10=_
9x7=_ 80+10= 7x9= 8x5=
30+5= 3x9=_ 9x10=_ 12+4=
7Tx1=_ 45+5=_ 40+10=_ 2x5=_
24+8= 90+9=_ R+4=_ 2’+7=_
1x8=__ 6+3=_ 5+5=_ 2x10=__
9x1=_ 12+2=__ 20+2=__ 15+3=
5x2=_ 8x9=_ 48+6=__ 3+1=_
7+7=_ 18+2=_ 24+4=__ 9x8=_
8+9=_ 42+-6=__ 9+9=_ 4+-4=_
4x4= 5x5=_ 4+=2=__ 7x3=__
4x3=__ 60-6=__ Tx7=__ 10x7=__
15+5=_ 4B+9=_ 3+3=_ 4%x2=__
18+3=__ 2x6=__ 40+4=_ 28+7=
3x7=__ 50+10=__ 8x7=__ 6x1=_
100+10=__ 5x1= Tx4= 70+10=_
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
5x8=_ 40 1x6=_6 5x6=_ 30 4x9=_ 36
20+5=__ 4 9x6=_ 54 10+1=_ 10 2x8=_ 16
7x2=__14 3x2=_6 8x3=_ 24 4x8=_ 32
3B+5=_ 7 2+2=_ 1 3B+7=_ 5 7x8=_ 56
1x10=_ 10 43+8=_ 6 5x4=_ 20 6+4=_ 9
3x3=_9 2x4=_8 14+7=_2 80+8=_ 10
9x3=_ 27 10x3=__30 9x9=_ 81 4x6=_ 24
4+1=_ 4 18+6=_ 3 50+5=_ 10 36+6=_6
3x10=_ 30 2x1=_ 2 8x8=_ 64 16+2=_ 8
54+9= 6 1+1= 1 8x1= 8 6x10= 60
9x7= 63 80+10= 8 7x9= 63 8x5= 40
30+5= 6 3x9= 27 9x10= 90 12+4= 3
7x1= 7 45+5= 9 40+10= 4 2x5= 10
24+8= 3 90+9= 10 32+4= 8 42+7= 6
1x8= 8 6+3= 2 5+5= 1 2x10= 20
9x1= 9 12+2= 6 200+2= 10 15+3= 5
5x2= 10 8x9= 72 48+6= 8 3+1= 3
/7+7= 1 18+2= 9 24+4= 6 9x8= 72
18+9=_ 2 42+6=_7 9+9= 1 4+4= 1
4x4= 16 5x5= 25 4+2= 2 7x3= 21
4x3= 12 60+-6= 10 7Tx7= 49 10x7= 70
15+5=_ 3 45+9= 5 3+3= 1 4x2= 8
18+3=_ 6 2x6=_ 12 40+4=_ 10 28+7=_ 4
3x7= 21 50+10= 5 8x7=__56 6x1= 6
100+10= 10 5x1= 5 7x4= 28 70+10= 7
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C:h Multiplying & Dividing within 100 Name:

Solve each problem.

B+7=_ 50+5= 5x10=_ 10x2=
60+10=_ 3x3=_ 21+3=_ 6x2=
2x8=_ 8x1=_ 9x6=__ 8x7=
40+10=_ 2+-8=__ 6x8=_ 1x3=
7x4=_ M0+7=__ 0V+9=_ 7Tx2=
10x10= 24+6=__ 2x5=_ Ox 4=
18+6=__ 60-6=__ 18+2=__ 14+7=
8+8=_ 49+7=__ 5x2=_ 15+ 5=
3x8=_ 6+2=_ 7x8=_ 70+10=_
1x10=_ 10x4=__ 2x1=__ 9+9=_
9x10=__ 4+2=_ 8+2=_ gx2=_
10+1=_ 7x6=_ 3x10= 28+ 7=
18+3=_ 4+1=_ 80+8=_ 3x4=_
8x10=__ 6x5=_ 8x4=__ 36+6=

24+4= 7x5= 10x3= 3x7=_
1+1= 1x6= 5:1= 6x1=
5x3=_ 7472 1x4= 9+1=_
9x5= ox9= 27:9= 63+ 7=
g+d4= 20+4=_ 45:9= 20+10=
7x1= 2x6= 25:5= 1x2=
0-8= 8x6= 7x9= 18+ 9=
2x3= 20+5= 8x9= 3+1=
27+3= 64+8=_ 8x5=__ Sx6=__
6x7= 24+3= 6x9= 32+8=
12:3= 16+4= 5:5= ax9=
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
B+7=_5 50+5=_ 10 5x10=_ 50 10x2=__ 20
60+10=_ 6 3x3=_ 9 21+3=_ 7 6x2=_ 12
2x8=_16 8x1=_8 9x6=_ 54 8x7=__ 56
40+10=_ 4 72+8=_9 6x8=_ 48 1x3=_3
7x4=_ 28 70+7=_10 90+9=_ 10 7x2=_ 14
10x10=_ 100 24+6=__ 4 2x5=_ 10 9x4=_ 36
18+6=_ 3 60+6=_ 10 18+2=_ 9 14+7=_ 2
8+8=_1 49+7=_ 7 5x2=_ 10 15+5=__ 3
3x8=_ 24 6+2=_ 3 7x8=_ 56 70+10=_ 7
1x10= 10 10x4= 40 2x1= 2 9+9= 1
9x10= 90 4+2= 2 8+2= 4 8x2= 16
10+1= 10 7Tx6=_ 42 3x10= 30 28+7= 4
18+3= 6 4+1= 4 80+8= 10 3x4= 12
8x10= 80 6x5= 30 8x4= 32 36+6= 6
24+4= 6 7x5= 35 10x3= 30 3x7= 21
1+1= 1 1x6= 6 5+1= 5 6x1= 6
5x3= 15 7+7= 1 1x4= 4 9+1= 9
9x5=_ 45 9x9=_ 81 27+9=_ 3 63+7=_9
8+4=_ 2 20+4=_5 45+9= 5 20+10=_ 2
/x1= 7 2x6= 12 25+5= 5 1x2= 2
40+8=_ 5 8x6=_ 48 7x9=_ 63 18+9=_ 2
2x3=_ 6 20+5=_ 4 8§x9=_ 72 3+1=_ 3
27+3=_9 64+8= 8 8x5=_ 40 5x6=_ 30
6x7=_ 42 24+3=__ 8 6x9=_ 54 32+8=_ 4
12+3= 4 16+4= 4 5+5= 1 4x9=_ 36
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Multiplying & Dividing within 100 Name:
Solve each problem.
50+5= 6x10= 7+=1=_ 1+1=__
80+ 8= R+8=_ 10x 4= 1x4=
10x 3= 10+2=_ 1x5= 12+3=_
4%x6= 49+-7=_ 63+7=__ 3x2=__
2x3=__ 9x3= 8x6= 28+4=__
20+5=_ 3B+5= 9x4= 5x 4=
1x7= 2x5= P2+4=__ 8+4=__
9x6=_ 4+2=__ 5x9= 3x9=
9+3=_ 2x7= 40+5=__ 8x1=
54+9=_ 28+7=__ 10+1=_ 12+6=_
0+9=__ 72+9= 9+9= ox2=
90+10=_ 18+9=_ 1x2=_ 9+1=
1x8= 5x6= gx2=_ 21+3=
2+7=__ 3x5=_ 7x9= 2x10=__
9x5=_ 2x1=_ 3x10=_ 5x5=_
10x6=__ 24+3= 50+10= 8x10=
n+7=__ 56+8=_ 48+8=_ 8+2=
Sx7=_ /7x10=_ 42+-6=__ 18+3=__
12+4=__ 6x5=_ 4+1=_ 21+7=__
4%x10=__ 18+6=_ 2x8=_ 9x9=_
8x7=__ 4x4= 64+-8=_ 2+8=__
1x6=__ 3x1=_ 40+8=__ M4+2=_
3x8=__ 5x1=_ 1x3=_ 5x3=_
6+9=_ 20+2=__ 24+4=__ 6x6=
10+10=__ 6+1=_ 10x 10 = 6x2=_
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Multiplying & Dividing within 100 Name. Answer Key

Solve each problem.

50+5=__ 10 6x10=__ 60 7+1=_ 7 1+1=_ 1
80+8=_10 32+8=_ 4 10x4=__ 40 1x4= 4
10x3=_ 30 10+2=_ 5 1x5=_ 5 12+3=_ 4
4x6=_ 24 49+7=_ 7 63+7=_ 9 3x2=_ 6
2x3=_ 6 9x3=_ 27 8x6=_ 48 28+4=_ 7
20+5=__ 4 35+5=_ 7 9x4= 36 5x4=_ 20
1x7=_ 7 2x5=__ 10 R+4=_ 8 8+4=_ 2
9x6=_ 54 4+2=_ 2 5x9= 45 3x9= 27
9+3=_ 3 2x7=__14 40+5=_ 8 8x1=_ 8
54+9= 6 28+7=_ 4 10+1= 10 12+6= 2
90+9= 10 72+9= 8 9+9= 1 9x2= 18
90+10= 9 18+9= 2 1x2= 2 9+1= 9
1x8= 8 5x6=_ 30 8x2= 16 21+3= 7
42+7= 6 3x5= 15 7x9= 63 2x10= 20
9x5= 45 2x1= 2 3x10= 30 5x5= 25
10x6= 60 24+3= 8 50+10= 5 8x10= 80
70+7= 10 56+8= 7 48+-8= 6 8+2= 4
5x7= 35 7x10= 70 42+6= 7 18+3= 6
12+4= 3 6x5= 30 4+1= 4 21+-7= 3
4x10= 40 18+6= 3 2x8= 16 9x9= 81
8x7= 56 4x4= 16 64+8= 8 72+8= 9
1x6= 6 3x1= 3 40+8= 5 14+2= 7
3x8=_ 24 5x1=_5 1x3=_3 5x3=_ 15
36+9= 4 20+2=_10 24+4= 6 6x6=_ 36
10+10= 1 6+1= 6 10x10=_ 100 6x2= 12
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Multiplying & Dividing within 100 Name:
Solve each problem.
2x5= 28+4=__ 8x5= 6x9=
10x1= 32+8=_ Sx4=_ 4x7=
10x 4= 18+9=_ 2x6=__ 9x5=
7Tx7= 20+5=__ 6+2=__ 20+10=
b+4=_ 24+4=__ Sx2=_ 50+10=
8x9= 18+3=_ 72+8= 2%X2=
5x 8= 1+1=_ 8x2= 12+3=__
100+10=_ 21+ 3= 30+6=_ 1x8=
9x10= 4+4=__ 9x3= 20+2=
1x3=_ 3x1=_ 80+10= 1x10=_
2x7=__ 56+8=_ 6+6=_ 4x1=__
9+1=_ 90+9=_ 12+4=_ 5x3=_
7+1=_ 10x5=_ 24+6=__ 9+3=_
6+3=_ 10x7=__ 6x6=_ 1x9=_
9x7=__ 3x5=__ 16+4=__ 8x7=__
2x8=__ 7Tx2=__ 1x2=_ 6x8=_
2+1=_ 64+8=_ 6x2=_ 80-8=_
7x5=__ 21+9=__ 7Tx6=__ 8+1=__
5x1=_ 4x9=_ 4x2= 30+5=_
24+-8=__ 8x3=__ 6x7=__ 2x4=_
7x10=__ 5x7=__ 6+1=_ 30+10=__
8x6=_ 5x5=_ 4+9=_ 21+7=__
40+10=_ 60+10=_ 7x9=__ 7+7=_
5+5=_ R2+4=__ 81+9=_ 9x6=_
60+6=__ 18+2=_ 30+3=_ 18+6=__
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Multiplying & Dividing within 100

Name:

Answer Key

Solve each problem.

2x5=_ 10 28+4=__ 7 8x5=_ 40 6x9= 54
10x1=_ 10 R2+8=_ 4 5x4=_ 20 4x7=_ 28
10x4=_ 40 18+9=_ 2 2x6=_ 12 9x5=_ 45
7x7=_ 49 20+5=_ 4 6+2=_ 3 20+10=__ 2
6+4=_ 9 24+4=__ 6 5x2=_ 10 50+10= 5
8x9=_ 72 18+3=_ 6 72+8=_ 9 2x2=_ 4
5x8= 40 1+1=_ 1 8x2=_ 16 12+3=_ 4
100+10=_ 10 21+3=_ 7 30+6=_ 5 1x8=_ 8
9x10=_ 90 4+4=_ 1 9x3=_ 27 20+2=__ 10
1x3= 3 3x1= 3 80+10= 8 1x10= 10
2x7= 14 56+8= 7 6+6= 1 4x1= 4
9+1= 9 90+9= 10 12+4= 3 5x3= 15
7+1= 7 10x5=_ 50 24+6=_ 4 9+3= 3
6+3= 2 10x7= 70 6x6= 36 1x9= 9
9x7= 63 3x5= 15 16+4= 4 8x7= 56
2x8= 16 7x2= 14 1x2= 2 6x8= 48
2+1= 2 64+8= 8 6x2= 12 80+8= 10
7x5= 35 27+9= 3 7Tx6= 42 8+1= 8
5x1=_5 4x9=_ 36 4x2= 8 30+5=_ 6
24+8= 3 8x3= 24 6x7= 42 2x4= 8
7x10= 70 5x7= 35 6+1= 6 30+10= 3
8x6= 48 5x5= 25 45+9= 5 21+-7= 3
40+10= 4 60+10= 6 7x9= 63 7+7= 1
5+5= 1 32+4= 8 81+9= 9 9x6= 54
60+-6=__ 10 18+2=_ 9 30+3=_ 10 18+6=__ 3
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Multiplying & Dividing within 100 Name:
Solve each problem.
1x2=_ 10x 4= 8+8=__ rT=7=__
20+4=__ 8+2=_ 56+ 8= 8+1=_
7x6=__ 9x5= 6x5= 8x5=
5+1=_ 2x1= 0+10=_ 5x6=
60-6=__ 4x8= 7x5= 4%x6=
7x2=__ 40+ 8= 10x1= 15+5=__
1x5=_ 10+2= 2x3= 16+2=__
48+8=_ 7x7= 4+4=__ 4+2=_
63+7=__ 4%x9= 4x10= 3x2=
7x9= 70+7=_ 6x10= 9x2=_
3+3=_ Ox1=_ 7+1=_ 3x1l=_
72+8= 15+3= 10+5= 5x10=_
10+10= 6x3= 28+7=_ 80+10=
3x10=__ 8x9=_ 50+5=_ 54+6=_
18+9=_ 5x7=_ 10%x8=__ 3x3=__
6+6=_ 8x7=__ 10x2=__ 3x6=_
6x4=_ 30+3=_ 25+5=_ 1x9=
6+6=__ 7x4=_ 4x3=__ 3x8=
6+1=_ 4+1=_ 7x3=_ 64+8=_
2+7=__ 1+1=_ 9x9=_ 21=7=__
45+9= 1M4+7=_ 6x9=_ 2x10=_
9x3=_ 20+5=__ 3x4=_ 8x6=__
6+4=__ 12+6=__ 90+9=_ ‘4=
8x3=__ 21+9=__ 6x2=__ P2+4=__
2x4=__ 16+8=_ 70+10=__ 10x10=
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
1x2=_ 2 10x4=__ 40 8+8=_ 1 7+-7= 1
20+4=_ 5 8+2=_ 4 56+8= 7 8+1=_ 8
Tx6=_ 42 9x5=_ 45 6x5=_ 30 8x5=_ 40
5+1= 5 2x1=_ 2 90+10=_ 9 5x6=_ 30
60-6=_ 10 4x8=_ 32 7x5=_ 35 Ax6=_ 24
7x2=_ 14 40+8= 5 10x1=_ 10 15+5=_ 3
1x5=_ 5 10+2= 5 2x3=__ 6 16+2=_ 8
48+8= 6 Ix7=_49 4+-4= 1 4+2= 2
63+7=_ 9 4%x9=_ 36 4%x10=__ 40 3x2=_ 6
7x9= 63 70+7= 10 6x10= 60 9x2= 18
3+3= 1 9x1= 9 7+1= 7 3x1= 3
72+8= 9 15+3= 5 10+5= 2 5x10= 50
10+10= 1 6x3= 18 28+7= 4 80+10= 8
3x10= 30 8x9= 72 50+5= 10 4+6= 9
18+9= 2 5x7= 35 10x8= 80 3x3= 9
b+6= 6 8x7= 56 10x2= 20 3x6= 18
6x4= 24 30+3= 10 25+5= 5 1x9= 9
6+6= 1 7x4= 28 4x3= 12 3x8= 24
6+1= 6 4+1= 4 7x3= 21 64+-8= 8
422+7= 6 1+1= 1 9x9= 81 21+7= 3
45+9= 5 14+7=_2 6x9= 54 2x10=__ 20
9x3= 27 20+5= 4 3x4= 12 8x6= 48
16+4=_ 4 12+6=_ 2 90+9=_ 10 36+4=_9
8x3=_ 24 27+9= 3 6x2=_ 12 32+4=_8
2x4= 8 16+8= 2 70+10= 7 10x10= 100
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Multiplying & Dividing within 100 Name:
Solve each problem.
9x 7= 90+9= 1x4= 20+5=
7Tx2= 6x2= 12+-6=__ 8+8=_
10x 8= 4x2= 10+2= 4+2=__
4x10= 24+ 4= 6+2=_ 20+2=
16+4=_ 35+5=_ 15+ 3= 8x1=
9x9=_ 2x4= 30+-6= 4x3=
P2+4=__ 9%x6= 3x9= 5x10=
16+8=_ 14+7=__ 6x5= 63+ 9=
1x7= 80+10= 10+1= 4x9=
9x1=_ 6+6=_ Tx4= 271+3=__
18+9= 5+5= 6x10= 6+6=_
72+9=_ 40+8=_ 70+10=_ 8x7=_
3x3=_ 9x5=_ 6+3=_ 24+8=__
2x10= 10x10= 9x10=__ 5x7=_
21+3= 5x5= 6x9=_ 1x2=__
2x1=__ 8x6=__ 60+6=__ B+4=__
20+4=_ 3+1=_ 32+8=_ Tx1=_
6x1=_ 28+7=__ 24+6=__ 3x6=_
40+4=__ 2x5=_ 4x1=_ 10x3=__
9x2=_ 56+8=_ 9+9=_ Ix7=_
24+3=__ 8x5=_ Tx7=_ 42+-6=__
10+10=__ 3x10=_ 6x3=_ 45+9=_
16+2=__ 6x7=__ 10x5=__ 12+4=__
6x8=_ 1x3=_ 8x8=_ 5+1=_
1+1=_ M0+-7=__ 15+5=_ 9x8=_
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
9x7=_ 63 Ix4=_4 20+5=_4
7x2=__14 12+6=_ 2 g8+8=_ 1
10x8=_80 10+2=_5 4+2=_ 2
4x10= 40 6-2=_ 3 20+2=__10
16+4=_ 4 15+3=_ 5 8x1=_ 8
9x9=_ 81 30+6=_5 4x3=_ 12
R+4=_ 8 3x9=_ 27 5x10= 50
16+8=_ 2 6x5=_ 30 63+9=_ 7
1x7=_ 7 10+1=_ 10 4x9=_ 36
9x1= 9 7Tx4= 28 2(+3=_ 9
18+9= 2 6x10= 60 36+-6= 6
72+9= 8 70+10= 7 8x7= 56
3x3= 9 6+3= 2 24+8= 3
2x10= 20 9x10= 90 5x7= 35
21+3= 7 6x9= 54 1x2= 2
2x1= 2 60+6= 10 6+4= 9
20-4= 5 32+-8= 4 7x1= 7
6x1= 6 24+-6= 4 3x6= 18
40+4= 10 4x1= 4 10x3= 30
9x2= 18 9+9= 1 3x7= 21
24+3= 8 7Tx7= 49 2+6= 7
10+10= 1 6x3= 18 45+9= 5
16+2= 8 10x5= 50 12+4= 3
6x8=_ 48 8x8=_ 64 5+1=_5
1+1= 1 15+5=_ 3 9x8=_ 72
D - I
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Multiplying & Dividing within 100 Name:
Solve each problem.
18+9=_ 4x3= 15+3=_ 6+6=__
10x 2= 9x10= 40+10=__ 18+ 2=
2x3=__ 3x1= 40+8=__ 8x2=
24+3=__ 1x7= 18+6=__ 1x3=
2x1= 10x 3= 50+10=__ 5x9=
56+8=_ 6x8= 7Tx6= 8x5=
5x5= 70+10=__ 20+-4=__ 80+10=__
3B/+7= 1x2= 2x5= 63+7=__
3x4=__ 4+4=__ 32+8=_ 4+2=__
4x5= 1x1=_ 18+3=_ 24+8=__
6x6=_ 4x2=__ 1x10=_ 10x1=__
7x3=__ 4x9=_ Tx1=_ 8x9=_
9+9= 9x6= 5x2= 80+8=
6x4=__ 10x5=_ 30+6=__ 5+1=_
1x5=_ 20+10=__ B+4=_ 3B+5=_
2+7=__ 6x2=__ 30+5=__ 3x7=__
28+4=__ 16+4=__ 56+7=_ 81+9=_
6-1=_ 3x5=__ 60+10=__ 10x6=__
9+3=_ 6+2=__ 9x3=_ 10x4=__
9x1=_ 10x9=_ 8x8=_ 30+10=_
3x9=_ 8x6=_ 24+6=__ 49+7=__
2x8=_ 4x7=_ n0+-7=__ 7x2=__
R+4=_ 9x5=_ 10x10= 8+8=_
63+9=_ 8+4=__ 2+-8=__ MUM+7=_
4+1=_ 8x1=_ 4+9=_ 12+6=__
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Multiplying & Dividing within 100 Name. Answer Key
Solve each problem.
18+9= 2 4x3=_ 12 15+3=_ 5 6-6=_ 1
10x2=_ 20 9x10=_ 90 40+10=__ 4 18+2=_ 9
2x3=_ 6 3x1= 3 40+8= 5 8x2=_ 16
24+3=_ 8 1x7=_ 7 18+6=_ 3 1x3=_ 3
2x1=_ 2 10x3=_ 30 50+10=_ 5 5x9=_ 45
56+8=_ 7 6x8=_ 48 7x6=_ 42 8x5=_ 40
5x5= 25 70+10=_ 7 20+4=_ 5 80+10=__ 8
35+7=_ 5 1x2=_ 2 2x5=__ 10 63+7=_ 9
3x4=__12 4+4=_1 32+8=_4 4+2=_ 2
4x5= 20 1x1= 1 18+3= 6 24+8= 3
6x6= 36 4x2= 8 1x10= 10 10x1= 10
7x3= 21 4x9= 36 7Tx1= 7 8x9= 72
9+9= 1 9x6= 54 5x2= 10 80+8= 10
6x4= 24 10x5= 50 30+6= 5 5+1= 5
1x5= 5 20+10= 2 36+4= 9 3B+5= 7
42+7= 6 6x2= 12 30+5= 6 3x7= 21
28+4= 7 16+4= 4 56+7= 8 81+9= 9
6+1= 6 3x5= 15 60+10= 6 10x6= 60
9+3=_ 3 6+2= 3 9x3= 27 10x4= 40
9x1= 9 10x9= 90 8x8= 64 30+10= 3
3x9= 27 8x6= 48 24+-6= 4 9+-7= 7
2x8= 16 4x7= 28 70+7= 10 7x2= 14
32+4= 8 9x5= 45 10x10= 100 8+8= 1
63+9= 7 8+4= 2 72+-8= 9 14+7= 2
4+1= 4 8x1= 8 54+9= 6 12+6= 2
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